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PROB.NJ. )Y

J4 Two electric cirvuils, represented

\

Course & Section

Assignment (first page)

direction 1ot (he current 7 m (e mlerconnection and
the reference polarity for the voltage v across the

|[HW ID (on each page)

(4]

Problem ID

If continued from a proir page, use

Prob. 1.14 (CONT'D)

35500

LS LOTI

i =10 A, v=125V

i =5 A, v =—-240V
cr i=—12A, v=480V
d) i=-25A, v=—-660V
Figure P1.14

A .. B

1on are as shown in the figure. For each
ving sets of numerical values, calculate
s power in the interconnection and state whether

power is flowing from A to B or vice versa.

Due Date N
(any format) ame
v boxes A and B,
14. The reference P/N

P: this page number
N: total number of pages

PROBL

\

Can copy/tape
scan/print
or handwrite/draw

EM

neat and

Text must tI)e neat and
readable. Print is prefered,
but cursive is acceptable if

legible.

FOR THE GNSA POLARITIES OF Y ¥ L, IF p=Y-i >0, TN

{Answer ID |

THE - POWE R 1> RLAWING SRR B 70 A [Arrow to answer |
u(A) y(V) B DIRECTION /
abl. 4o 125 | diolenan o ;U-/“@
b 5\ -240 | -ja00W '\ A—>B < E@Hb)
Gkl sl 480 | —5760W \eﬁ, B< E(H‘ic)
a =25 -4660 /4000 W B\K/“ < .-%Q-“*d)
\—|Double underiing answer |

USE GREEN E-2 PAPER
(Engineering Paper)

Table columns or
individual entries may
contain units (not both)

Generally start a new problem on a new page.
Only put multiple problems on a page if they

can be finished on t

hat page.

About 1" margin
inside work area
beyond which are
only Answer IDs.

o
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1.26 The numerical values for the currents and voltages
in the circuit in Fig. P1.26 are given in Table P1.26.
Find the total power developed in the circuit.

Figure P1.26
= FIcl
J-i!
—
a
. U
Iy
b
: I i
b peo i
v c L S
d ———
Uy &
TABLE P1.26
Element Voltage (k'V)
a 130
b 150
c 100
d 250
€ 300
[

=300

U

Current (mA)

0.6
1.4
—0.8
—0.8
2.0
1.2

EACA cLEMENT 1S peCcLaRsD h “"soures” oR "ZoaAR" pecok pIvg
TO ThE RSLATNE POLARITY oF THE Asslénsn Y6

THEN | PSPENDING 0N THE SIGN OF P=Y-b, IT IS DETERMISD
WHETHER T 1S ACTUALLY PEVSLOPING OR ABSDRRING PowT R

sLemewT TIPS | vGV) _e(mA)|  p(w) |Devsiop (w) ABSORE(w)
el LOAD | 150 0.6 90 70
b LopiD. | 5o il =2h0 | e
c SOURCE | joo -0.8| —80O : 30
d LOAD | 950 -=0.8|=R00| =200
e SOURCE | 3200 -2.0|-600 £00)
€ LOpD  |-300 1.2 |- 360 360

TOTAL THow G W

The TOTAL POWER PSNSLOPED BY THE cIRevIT s 7T0W <
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PROB. 2.0

2.7 1f the interconnection in Fig. P2.7 is valid, find the
~— total power developed in the circuit. If the intercon-
nection is not valid, explain why.

Correct the
author's poor

attention to units. Figure P2.7
50V
+
) 250V
When an answer is 715"“J 80V Keep J:(alue.s intaf[;t
"obvious", so indicate. 6 V/A (qega Ve SIgns s'ay
’ with number) until the

B operation is carried out.

BY INspseTion, AL=TASA

REPSA DENT sOURCT VOLTAGE 1S (6%)(_'75'@ 251se-V When an answer

spans multiple
lines (of paper),
indicate vertical
extents with curly

et braces.
MIDDLE BRAMCH * CompLIANT DVL TO CURRENT s@URTE

THE VOLTRGT oF TOP mMoDE RSELATIVE ToO RoTlorm w/opg

LEFT BRANCH @ SON -"180V =200V

RIGHT BRAMNCH = 250V

CIRCUVIT IS ANOT VALID BECAVUSE THE VOLTAGL FROmM THE
TOP NODE TO THE EOTTOM MOPT S MOT THE sAmME FOR <_M)‘
ALL POSSIRLE PATHS, THUS YIoLATING KVL

MOTE A VOLTRGQZ SOURCE N SSRITS wITh

CURREWT soURZ HAS ND ESFFECT (WHLE
A CURRENT SOURCE IN PARALLZ L WITH

A VOLTAGS S50VRCE HAS wo £FFzc7Give detailed explanations.
Remember, your goal is to
convince the grader that you

T KNOW the answer. Don't rely
on getting the "benefit of the
= I L V' &goubt” if your answer is
\ ; ‘-‘ incomplete or ambiguous.
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PRORB: (2.9 ]

2.21 The current i, in the circuit in Fig. P2.2114s 1 AL

PSPICE , .
MULTISIM “'] Find .

b) Find the power dissipated in each resistor.

¢) Verify that the total power dissipated in the cir-
cuit equals the power developed by the 150 V

s0urce,

Figure P2.21
. Add labels and

son o .
polarities for any

and tracked properly
throughout the work. i i,

13
J

150V — Uy 50s= |50V-(A(502) =150V-50V = |00V

“Wr
Units to be included /_quantities you use.
40 10 )

. Ve  aoov
Cice = 254 = 5 A
b ()-/o“_ = [;25_' Lb.f L}A"" ]A :SA
Vg = Vo + Lyp-10a= 100N + 3R 102 =(0DN+30V = | 3DV
. = Neo ulzo) - (2.2]a)
é, = 455 = 2o = 2A<
Ly= L, *bp = AA+3A= S A
s= Ve "’qu"le.= 130V +ZA-4u= 130N+ 20V = | 50N v~
Us= Uptly= IA+SA =LA
[ .
Work symbolically R(w) "¢ (M) IR = NP [For numerical
as far as practical. 4] 5 (A (42) = 10 results, transition
1O <! zZaY-(na) = 90W—from symbol to all
a5 i (4pY (272) = Yoo W |[numeric using
50 \ (R (sp2) = S0 W |same format.
65 2 @AY -(452) = 240W Galb)
TOTAL 900W < :
- Rovies = I1SOV-LA = T00W (maupLs Loaps ) =< (2.21c)

Include notations that are relevant
to answer the question asked.




